St . . EAGRERMREE

TG

+

ALI 700 Er AT\ 28

D 3o e e

Rangehood

- Seao TSl
Ssal TS~

~~ ~

~— el

~~ ~<.
~~ ~

~ ~

ﬁm%ﬁﬁ% \\\J\\ \\\J\
(5%1) ) TN ) ™~
./ R0 : I Te 1“1,“ 3 E?% i
S 2 HRO > 0~ /‘Etﬂ;&ﬁ\}é
o T (&) P, iewsowe ’ Cf
[o0]
x | ' :7
T 1 ~
150885 ' 2150588
. N e 3 E&ORA 3
& wagmE| | F SR A
- WEE )| RERE Hira B HIRRALR T
S —+ 2160
<
A
330 HEREOERS BER O 13K
< BIHE qQ
75
[ piES ; RSN H - > ;
§ - o < b ‘ o = B
_ 1 Eso(ﬁeeésﬁf@mg L 9
M 9 g -
s 696 « —fH G
2 H s
0 —F AR IR
N — B84
/—M#_M—\ OO \ BSFLR~T
2150 395 EIHEFY  335x440
IFRE A-A BIfRE
=346 (3+4)
. 168 | EO %A ES st
‘ HiEaLT = oo = AR
BRXRIE =
o @ ,
BEHEE 7 8__: I"' =1 v/ M5x50 B BUR 44
19K e 2 e | e
112 (610) 284 / ég}ﬂi . Y
M5x50 : } @ ‘
BBk o || 100,100, o o s
. . T8 Y L
, g N EEPS 0o BRRIS A E
@ . <2 =9
C ¥ a a|—¥ 21;,,,,,,45
‘ THIR M4x10
H%Ef/,' 12071207 o BB A pmes B
o
[ee]
N - BMEIRMILOE TR
Yo}
. 10
T 438 |
£E5hAs

A3

FRE
SAATBIERE A PIBiB15002 K
2. L MRERFHGEHE : 3302600%2°K

3. HHEE B E RIEZR IR AE D405 K (A2 505 K=1h)

4. EERERDREANSHEPIEEARDIN3462K

5. HBHAARIMEEREEEES L - WETHEEE

o Towngas

TOWN

Enterprise

gas

BRER

<
Q
>
e
o
3
<
=
o




O
TG: Rangehood

ALI 700 Built-in Installation

Steel wire
(i[_ fixing —— I\I\\ I
(Notes 1) . 5
\ " i
e 1 el 1'70/,‘ v e |\ e R Seal the gap
s 1§ > N ) ; N » with silicone
\\ i Exhaust outlet G7 sealant
o f\J_,-l""'“ (Notes 1) ™M
® .
n s :
[ TR T ey T T T A ]
v v AN
A A 2150 o 2150
A Aluminum . Sealed with Aluminum
~—— Adjustable ' ' L : ) . al t-out
decorativel | flexible pipe aluminum flexible pipe lass cut-ou
Q —_ : foil tape duct (Notes 1) size 2160
g cover duct (Notes 1) . p
I\ (Notes 2)
c 330 Exhaust outlet on the wall  Exhaust outlet on the glass
! «= Kitchen cabinet
| @
' I——— Control panel 75
o l . - . - . - . - . -
& | — ‘ 230 R . bk E . !
; (Reserve maintenance ’ = ‘ ‘ = 4
area) [o0)
= ©
R 696 5 ©
Ho N e I I e e
Ty ™ ]
e | I Range hood
<
A —t i 4[> Screw for holding
N AN control panel
/_M_M_M_\ — conirl pane
395 \ 335 x 440
2150 - . Cabinet door
Front View A-A Section View
=346 (notes 4)
Decorative cover
168 ‘ Sealed with mounting bracket
aluminum Self tap screws
. foil tape False 300 (one on each side)
/" ceiling \ q
1.9m 1 | ,
power cable f foo ¢ S M5x50 self tap screws
{
Duct clamp Upper bracket ) < ) \;&J
Wall plug (6pcs) (notes 5)
M5x50 self @ @ ' &
tap screw (6pcs) o foess) Tn
o \ Cabinet door liﬂ;ck nut J Ei}
@ D
N e
Diameter Lower bracket L >
M4x10
o
© — % s .
S Screw Position on Wall Fixing Bracket
- 3
s —¢
© 383
T 438 535

Grease collector

Side View

Notes : 1. Provided and installed by contractor with additional charge
The distance between steel wire fixing cannot exceed 1500mm
2. Adjustable height of pipe cover: 330-600mm
3. The distance between the pan support of cooking range and the lowest part of range hood should
be at least 455mm (with +£50mm tolerance)

<
o
o
e
)
j}
<
=
T

4. Minimum internal depth of kitchen cabinet, excluding door thickness, should not less than 346mm o Towngas Towngggn#
R SRLIE

Enterprise

5. Support bracket and baffles should be mounted on the wall to support the weight of the appliance




